Unit 3.1

Academic Writing
Paragrapgh Coherence & Cohesion

Each paragraph has a separate main idea (stated in the topic sentence) that needs to be analyzed and exemplified within its limits. All ideas must be closely related to each other and logically sequenced (coherence). Also, the transition from one concept to the next must be smooth (cohesion). Coherence and cohesion can be achieved with the use of pronouns, synonyms and / or explanations to avoid repetition, along with the use of appropriate cohesive devices. 

Example

Fertilizers, used in agriculture, are rich in carbon, nitrogen, and phosphorus. Farmers use them on crops such as grains, fruits, and vegetables. Fertilizer not absorbed by plants accumulates in the soil. Nutrients from fertilizer can also leech into groundwater or runoff. Nutrient-rich runoff flows into creeks, rivers, and bays. Similarly, ponds, lakes, and even the ocean can absorb huge amounts of nutrients, especially nitrogen and phosphorus
Task. 5  Find the ways coherence and cohesion are achieved 
Nutrients such as carbon, oxygen, and nitrogen make all life possible. Nutrient-poor areas cannot support much biodiversity. Bogs, for instance, are nutrient-poor wetlands found in cool climates. The soil of bogs is much more acidic than fertile, or nutrient-rich, soil. Few species of plants can grow in the nutrient-poor soil of bogs. As a result, with fewer species of plants available, the ecosystem is unable to support a large variety of other organisms, such as animals and fungi.

Algal blooms can die off as quickly as they form. The dead algae and other microbes sink to the bottom of the body of water. Thus, sunlight and nutrients can once again enter the ecosystem. However, bacteria that help decay the algal bloom now absorb most of these nutrients. It can take weeks or even months for an ecosystem to recover from an algal bloom.


Paragraphs retrieved from https://www.nationalgeographic.org/encyclopedia/nutrient/ (accessed on 15/05/2021)

